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1 [bookmark: OLE_LINK1][bookmark: OLE_LINK2][bookmark: OLE_LINK132][bookmark: OLE_LINK133]Introduction
[bookmark: _Ref516345544]In last meeting, RAN4 agreed the SSB-less SCell activation test cases. Agreement is captured below.  
· Agreement on Test configurations for SSB-less
· Single P-TRS is configured in SSB-less SCell in the SSB-less SCell activation TCs
· Don’t configure the parameter SCell measurement cycle (measCycleSCell), SSB configuration and SMTC configuration for SSB-less SCell
· Set EPRE difference as [9 dB] + [ΔPL] in the test cases. 
· the [9] can be updated to the same number as in core requirement if any updates on the core requirements.
· PCell has [higher or lower] EPRE than Scell.
· Further discuss whether and how [ΔPL] can be reflected in the TC.
· ΔPL is the power difference caused by BW difference and/or frequency difference between two Cells.
· Encourage concrete proposals on how ΔPL due to BW difference and PL difference can be reflected in the test.
· The TCI.State.0 could be used for the TRS of the SSB-less SCell with an additional note that the reference signal is SSB0 from spCell.

It was discussed on how to configure the receive power difference side condition in the conducted test for FR1 as there is no propagation delay difference that can be tested in conducted test. There was proposal to configure the EPRE as [9db] + ΔPL. Where delta PL is the propagation delay difference UE supposed to pre-compensate which was arising from carrier frequency difference and BW difference. 
Current requirements for the core part are captured below for reference.
For a UE supporting [scellWithoutSSB-interband], if the SCell being activated belongs to FR1 and if the UE is not provided with SSB configuration (absoluteFrequencySSB) in the target SCell (FrequencyInfoDL) nor SMTC configuration for the target SCell, and if there is one collocated active reference serving cell on different FR1 band, when the following conditions are fulfilled,
-	The RTD between the target SCell and the collocated reference serving cell is within CP where CP is corresponding to the SCS of SSB-less SCell, and 
-	The [EPRE] difference at the UE is smaller than or equal to [9] dB, where, [EPRE] difference is the power difference between TRS/A-TRS symbol on the SSB-less SCell and SSB symbol on the reference serving cell [after the compensation for AGC], and
-	The RS(s) of the SSB-less SCell being activated is (are) QCL-TypeA with TRS(s) of the SSB-less SCell being activated, and the TRS(s) of the SSB-less SCell being activated is (are) further QCL-TypeC with SSB(s) of an inter-band active serving cell, and the inter-band active serving cell shall be same as the reference serving cell.

As we can see in the above core requirement, pre-compensation is mentioned in the specification with []. If RAN4 agree to remove the [], it is important to test the pre-compensation in the test. We think the approach proposed in the last meeting can be adapted to test the pre-compensation behaviour at UE. 
How to calculate and reflect this ΔPL in the Test
The ΔPL can be calculated based on the exact band combinations used in the test. PL difference is based on the carrier frequency difference and BW difference. We suggest using the free space propagation delay difference to compute the ΔPL. In last meeting companies raised concern that, in the UE implementation, UE may calculate the pathloss based on different mechanism than the free space propagation model and apply different pathloss delay than the free space propagation. When UE can estimate the pathloss delay better than the free space propagation delay, by applying different value in the test may make the UE fail the test. However, we are not sure if this is such a big issue as if UE estimated PD by few dB than what is applied in test, we do not think it would alter the test result. 

Proposal 1: RAN4 to set EPRE difference as [9 dB] + [ΔPL] in the test cases
Proposal 2: RAN4 to use free space propagation delay difference to compute the ΔPL based on the carrier frequency difference and BW difference.

2 Conclusion
In the contribution, we discuss the test case design for NES. We have the following proposals:
Proposal 1: RAN4 to set EPRE difference as [9 dB] + [ΔPL] in the test cases
Proposal 2: RAN4 to use free space propagation delay difference to compute the ΔPL based on the carrier frequency difference and BW difference.
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